11:07:05 2/8/2012	Public Improvement Assessment R F	coll by Address Project: Ratification Date: Resoluti		t: 110582	Manager: JAO	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Todd A Richter 510 Brimhall St St Paul MN 55116-1507 *510 BRIMHALL ST *Ward: 3 *Pending as of: 4/6/2011	HALEY'S ADDITION LOT A RANDOLPH VILLAS AND W 6 75/100 FT OF PART OF N 300 9/10 FT OF LOT 3 /IN THE FOL ADD/ LOTS 1 2 3 AND 4 SW 1/4 SEC NO 10 T 28 R 23 S OF EXTENDED N L OF LOT 3 BLK 1	Alley Real Estate Admin Fee  *** Owner and Taxpayer ***	48.00 3.84	36.60 36.60	\$1,756.80 \$140.54 \$1,897.34	10-28-23-32-0092
Jarrett P Yehlen Jennifer Brenden 514 Brimhall St Saint Paul MN 55116-1507 *514 BRIMHALL ST *Ward: 3 *Pending as of: 4/6/2011	HALEY'S ADDITION LOT B RANDOLPH VILLAS AND IN SD HALEYS ADD LOT 4 BLK 1	Alley Real Estate Admin Fee  *** Owner and Taxpayer ***	48.00 3.84	50.00 50.00	\$2,400.00 \$192.00 \$2,592.00	10-28-23-32-0091
Michael C Gerner Michelle A Gerner 518 Brimhall St St Paul MN 55116-1507 *518 BRIMHALL ST *Ward: 3 *Pending as of: 4/6/2011	HALEY'S ADDITION LOT C RANDOLPH VILLAS AND IN SD HALEYS ADD LOT 5 BLK 1	Alley Real Estate Admin Fee  *** Owner and Taxpayer ***	48.00 3.84	50.00 50.00	\$2,400.00 \$192.00 \$2,592.00	10-28-23-32-0090
Michael Edwards Elizabeth A Siess 524 Brimhall St St Paul MN 55116-1507	HALEY'S ADDITION LOT D OF RANDOLPH VILLAS AND IN SD HALEYS ADD LOT 6 BLK 1	Alley Real Estate Admin Fee  *** Owner and Taxpayer ***	48.00 3.84	50.00 50.00	\$2,400.00 \$192.00 \$2,592.00	10-28-23-32-0089

\*524 BRIMHALL ST

\*Ward: 3

\*Pending as of: 4/6/2011

11:07:05 2/8/2012	Public Improvement Assessment R	•	oject: 19116 Assn esolution #:	nt: 110582	Manager: JAO	Pag
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Andrew M Jensen 528 Brimhall St Saint Paul MN 55116-1507 *528 BRIMHALL ST *Ward: 3 *Pending as of: 4/6/2011	HALEY'S ADDITION LOT E RANDOLPH VILLAS AND IN SD HALEYS ADD LOT 7BLK 1	Alley Real Estate Admin Fee  *** Owner and Taxpaye	48.00 3.84 or ***	50.00 50.00	*	10-28-23-32-0088
William C Olsen Debra L Siegel 534 Brimhall St St Paul MN 55116-1507 *534 BRIMHALL ST *Ward: 3 *Pending as of: 4/6/2011	HALEY'S ADDITION LOT F RANDOLPH VILLAS AND IN SD HALEYS ADD LOT 8 BLK 1	Alley Real Estate Admin Fee  *** Owner and Taxpaye	48.00 3.84 er ***	50.00 50.00	* ,	10-28-23-32-0087
Gregory Scott Miller 538 S Brimhall St St Paul MN 55116-1507 * NILES AVE *Ward: 3 *Pending as of: 4/6/2011	RANDOLPH VILLAS LOT G	Alley Real Estate Admin Fee  *** Owner and Taxpaye	48.00 3.84 er ***	42.00 42.00		10-28-23-32-0086
Daniel G Murphy Michelle L Murphy 509 Saratoga St S St Paul MN 55116-1545 *509 SARATOGA ST S	RANDOLPH VILLAS LOT 5 RANDOLPH VILLAS AND PART OF LOT 3 SUBD ENTITLED LOTS 1 2 3 AND 4 SW 1/4 SEC NO 10 T 28 R 23 AS RECORDED IN BOOK H OF TOWN PLATS PAGE 2 S OF EXTENDED N L	Alley Real Estate Admin Fee  *** Owner and Taxpaye	48.00 3.84 er ***	36.60 36.60		10-28-23-32-0077

\*509 SARATOGA ST S

\*Ward: 3

\*Pending as of: 4/6/2011

11:07:05 2/8/2012	Public Improvement Assessme	ent Roll by Address Ratification Date:	Project: 19116 Assm Resolution #:	nt: 110582	Manager: JAO	Page 3
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Charles C Stout	RANDOLPH VILLAS LOT 6	Alley	48.00	42.00	\$2,016.00	10-28-23-32-0078
Kristi Stout		Real Estate Admin Fo	ee 3.84	42.00	\$161.28	
24451 Inwood Ave Forest Lake MN 55025-8375		*** Owner and Taxpa	over ***		\$2,177.28	
*511 SARATOGA ST S		Owner and Taxpa	ayer ***			
*Ward: 3						
*Pending as of: 4/6/2011						
						***ESCROW***
Barbara A Beltrand	RANDOLPH VILLAS LOT 7	Alley	48.00	42.00	\$2,016.00	10-28-23-32-0079
Malcolm B Parker		Real Estate Admin Fo		42.00	\$161.28	10-20-23-32-007)
515 Saratoga St S					\$2,177.28	
St Paul MN 55116-1545		*** Owner and Taxpa	ayer ***		,	
*515 SARATOGA ST S						
*Ward: 3						
*Pending as of: 4/6/2011						
Maria T Vasquez	RANDOLPH VILLAS LOT 8	Alley	48.00	42.00	\$2,016.00	10-28-23-32-0080
521 Saratoga St S		Real Estate Admin Fo	ee 3.84	42.00	\$161.28	
St Paul MN 55116-1545					\$2,177.28	
*521 SARATOGA ST S		*** Owner and Taxpa	ayer ***			
*Ward: 3						
*Pending as of: 4/6/2011						
Paul M Flindt	RANDOLPH VILLAS LOT 9	Alley	48.00	42.00	\$2,016.00	10-28-23-32-0081
Amy K Hamlin		Real Estate Admin Fo	ee 3.84	42.00	\$161.28	10 20 20 02 0001
525 Saratoga St S					\$2,177.28	
St Paul MN 55116-1545		*** Owner and Taxpa	ayer ***		•	
A PAR CLAD A TROOP A COTT C						

## \*525 SARATOGA ST S

\*Ward: 3

\*Pending as of: 4/6/2011

11:07:05 2/8/2012	Public Improvement Assessme		Project: 19116 Assm Resolution #:	it: 110582	Manager: JAO	Page 4
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit Rate</u>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Jolie Beth Beckey 529 Saratoga St S	RANDOLPH VILLAS LOT 10	Alley Real Estate Admin Fee	48.00	42.00 42.00	*	10-28-23-32-0082
St Paul MN 55116-1545 *529 SARATOGA ST S *Ward: 3 *Pending as of: 4/6/2011		*** Owner and Taxpay	/er ***		\$2,177.28	
Christopher Niemeyer 533 Saratoga St S St Paul MN 55116-1545	RANDOLPH VILLAS LOT 11	Alley Real Estate Admin Fee	48.00	42.00 42.00	*	10-28-23-32-0083
*533 SARATOGA ST S *Ward: 3 *Pending as of: 4/6/2011		*** Owner and Taxpay	/er ***		,,	
Abby Williams Pinto David Patrick Pinto 537 Saratoga St St Paul MN 55116-1545 *537 SARATOGA ST S	RANDOLPH VILLAS LOT 12	Alley Real Estate Admin Fee *** Owner and Taxpay		42.00 42.00	\$2,016.00 \$161.28 \$2,177.28	10-28-23-32-0084
*Ward: 3 *Pending as of: 4/6/2011						
Total Alley: Total Real Estate Admin Fee:	\$31,641.60 \$2,531.32					
Project Total:	\$34,172.92	D	2.04	1 210 40	¢24 172 02	
<b>Less Total Discounts:</b>	\$0.00	Residential From		1,318.40	\$34,172.92 \$34,172.92	
Project Total:	\$34,172.92	Frontage Total	18;	1,318.40	<b>554,1/2.92</b>	

15 Parcel(s)

0 Exempt Parcel(s)